o FHHVEMLPHRE
— UDF2&E |7 1, 5. 6. 7. 8. 10. 11

— UDE3&E |0 2. 6. 7. 8. 9. 10. 11

— UDZF4% u @1, 5. 7. 9. 13

— UDZE6E 012, 14. 15. 18

—UDFE17&E M Bi11, 13, 14, 16. 18. 19

— ESZE2471525.>]4. 6. 8
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e P2Q
— QifP
— P is sufficient for Q
— Q. is necessary for P
— PonlyifQ
— Q whenever P
* You can come to the party only if you have an
Invitation.
— Have an invitation = Come to the party ?
— Come to the party = Have an invitation ?
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+ -(P>Q)
—-(-PVQ)
<>-(=-P)A-(Q)
<P /A-Q
e |f Tis continuous, then T is bounded.
— f5%€: Tis continuous and T is not bounded.

e The number x is prime only if x is odd.
— 5% : The number x is prime and x is not odd.
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 Thereis ay such that xy=0 for every x.
— 73 %€ 1: For all y, there is an x such that xyz0
— 73 %€ 2: There is an x such that for all y xyz0

— AR RSO ?
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e For all >0, there exists 6>0 such that if x is a
real number with |x-1|<8§, then |x%-1|<e.
— ﬁu%vé Ve, €>O—)E|5,(5>O/\VX,(X€R/\‘X—].‘<5—)‘X2—1‘<8»)
— HKE: Je, 6‘>O/\V5,(§SOVE|X,(XER/\‘X—].‘<§/\‘X2—].‘ZE)))

—JNB: 3e(e>0av5,(6>05 3% (xeRA-1 <5 Al -1 )
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(D If lis a positive real number, then there exists
a real number m such that m>|.

vI,(1>0—3mm>1)
(2) Every real number m is less than t.

vm,(m<t)

(3) The real number t is not positive?

t>07?
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* g(1)=a, g(m+n)=g(m)g(n)
e yFBH: g(n)=a"

o B AYNNEUEH -

1. n=0K}, g(0)=1, J& L. ] L& 4 11
2. fien=kiy, RYAL, Bfig(k)=ak S AF

3. fkuEn=k+1K}, gEor, Blg(k+1)=ak? il

4. IR, glkrl)=g(g(l)=ata=at, i
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o n+1fTHT:
1. W%ac(a,ctby)...(a.ctb )=0, H4ac=08ac+b=0
2. tnRac+b=0Hiz1l, HAK1Mi FFrE# (rearrange) ,
=\ 2 f§if5ac(a,c+b,)=0
3. I8%ac(a,ct+by)..(a,c+b. ,)=0, WRHIITLMEHE, A0

¢ /fET\Eé’ ZBﬁHTJ"

— I ac(a,c+b,)=0& K N(a,c+b,)=0T IFac=0, -4 ik
2 A e S
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o KON R N+1 /1 convex polygon®] LL43 N
- — =M
— —/M RN E convex polygon
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e Output the length of a longest monotone
subsequence.

—191083 752614
o HVE
— 538K
— Bha I
— H U A A HIA:
http://en.wikipedia.org/wiki/Longest_increasing_s
ubsequence#Efficient_algorithms
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e Partl. Part2. Part3
* Part4: w,=wy
— "ANBCA
— X " AnBs&successor set  //Part 3
— SCw,CANB  Jfw, E X
— .. w,EB
— M " w,AEsuccessor set  //Part 3
— SowpCw,  //wgHIE X
— Hfﬂ, W, S Wy
— W= Wy
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e Part5: S=w
— B4 SYE NPart 4 H)arbitrary successor set A
— MwRARE T TFEIAE  //w,HE X
— J.WES

 Part 6: x*20
— UE: xt=xU{x}=0 = x=0 = {D}=0
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e Part 7:S={x€Ew :VyEuw, if yEXx, then yEx}=w

— Use Part 5, .M NM:
1. ®ES
2. IfxES, thenx*€S

1. OESEIRAIL
2. Z55%E: VyEw, if yEx, then yCx
WUk VyEw, if yExt, then yCx*
y Ex =x U {x}

o INHyExX, HPLyexex

e Ny E{x}, Hay=xcx*
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e Part 8: x=y
—x U {xj=y Uy}
o JoXEyYEXE {y}
e .xCyilix=y //Part7
e J.XCy

— l:I}/_éE’ ng

]

d




o AMEENTIL

— DHEE2E
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4

o [0 /%1% (vector/list)
o BZH/ZF=H% (array/table)

e FA%1] (queue)
o 1% (stack)

° *7\1‘ (troo)
"y \L1 Ty

) .
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UNARI X ik Tic-tac-toe ?







